
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(جمع الكسور (الكسر الصحيح) (الكسر غير الصحيح

+ =
8
6

8
4

+ =
8
7

9
4

+ =
9
3

8
7

+ =
6
1

8
4

+ =
9
5

5
3

+ =
9
1

4
3

+ =
3
1

5
7

+ =
8
6

5
1

+ =
2
3

5
4

+ =
8
4

8
7

www.snowmath.com

https://www.snowmath.com


　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(جمع الكسور (الكسر الصحيح) (الكسر غير الصحيح

+ = = 1
8
6

8
4

4
5

4
1

+ = = 1
8
7

9
4

72
95

72
23

+ = = 1
9
3

8
7

24
29

24
5

+ =
6
1

8
4

3
2

+ = = 1
9
5

5
3

45
52

45
7

+ =
9
1

4
3

36
31

+ = = 1
3
1

5
7

15
26

15
11

+ =
8
6

5
1

20
19

+ = = 2
2
3

5
4

10
23

10
3

+ = = 1
8
4

8
7

8
11

8
3

www.snowmath.com

https://www.snowmath.com

